I. £ o] AFA= ZHF W
& 7u Apeiurlz ik &
Es|E7]|2 sict.

1) A77bd(Ha)wt AE7Ha(Ho) e A9 Rt (A A% two-tail t-test)
HaZ3 2 9ol8 2 AHA)T o] 322 g2} 2 YoHB) Aol 37 345
xol7} 91g Holct
Ho: 28 9Jols 2 WehA)T b] 342 932 2 FB) Aol BF 345
o]zt Qg Holct
) SlolA MAYE HEe BB PolA 2092 PR MYNA 2 2 1084 PA9=
cheat Ze AWAAES stoic
A= 1L %F—'ﬁ% AdstE B FJHHA): 57 58 58 61 61 47 50 50 51 47
H] T2 o43}= = ACHB): 49 52 52 53 49 43 46 46 47 43

FoE £F(p=.05)014 HEotL HFES Autet sl e,
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(X,-X,)*= (57-54)* (58-54)% .. (7L walo@ A& AXEH) M(X,-X,)?
9 16 16 49 49 49 16 16 9 49 0 §=278
X, 49 52 52 53 49 43 46 46 47 43
(X,- Yb)2:(él9-48)2 (52-48)? ....(Ze wrrAloZ A& AAE A Z(Xb— b)2
1 16 16 25 1 25 4 4 1 25 &&=118
* & KTt E% t-ZAA (two sample t-test)9] 75‘%
s B2t = VX, - X))+ D((X,— X)2)/ (ny +ny —2)(1/n1+1/n2)
=/[(27 +118)/(10*1+10—1)](1/10+1/10) = V(396/18)(1/5) = V4.4 = 2.09

= (Z— X, )/ol& BEZE QR = (54-48)/2.09 = 2.87

FE=(nl-1 + n2-1)=10-1 + 10-1 =18], p=0.05}-%
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